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GEOGRAPHY
( General )

( Economic, Political and
Environmental Geography )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Choose the correct answer of the following :
1x10=10

weTe AR WwE Tegeo IfS Bfere -

fa) Which one of the following resources is
not renewable resource?

T (RIACD] O AT T T ?

(i) Forest resource
K ™M
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(2)

(i) Marine resource
g TR

(i) Fossil fuel
g =

(iv) Water resource
L it

(b) Which of the following two seas are
connected by Panama Canal?

TR M T RS AR AT A
FR=?

(i) Atlantic Ocean and Mediterranean
Sea

HoAeE TR FF TR

(i) North Sea and Baltic Sea
Tt SR I 6T R

(iii) Pacific Ocean and Carribean Sea
P8 FEPTIA S (FRRE oA

(iv) Mediterranean Sea and Red Sea
TIPTR SF (RS T3
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(3)

(c) In which of the following regions, the
largest crude oil reserves of India are

found?
T (IO TS SRSy SN e
(oo SIS CART T/ ?
(/) Gujarat
&Eq1b
(i) Assam
T

(iii) Western offshore
1% Torga

(iv) Rajasthan
T

(d) The occupation of Eskimo people is
associated with

<R ol T iR R 2
(i) collection
AR
(i) fishing
TR 10
(iii) hunting
foer
(iv) animal-rearing
i MO
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(4)

fe) 55% jute of the world is produced in
AT ee% TG Beoimw =W

(i) Assam
TS

(ii) Bangladesh
TS

(i) India
e

(iv) China
b Crai]

() The species Pine is included under

W aEf BRARY wede @@ tRw
PR T

(i) tropical monsoon forest

8 PR e

(fi) subtropical mountain forest
Borr@ oIy e

(iti) tropical thornlike forest
BT FER I

(iv) tropical rain forest
TR T w1
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(S)

(g} Which of the following countries produces
the highest amount of petroleum?

TR @M o RAT R I e
Beoqma T ?
{i) Iran
S
(ii) Russia
e
(i) Saudi Arabia
ot ST
(iv) USA

RUSER S

(h) Which one of the following gasses is not
present in the troposphere?

TR @FRY 1R § RRRS ¢k TR 2
) CO,
I TREH TS
(i) Oj
'EH
(iii) Oy
Sf3E
(iv) Ny
C AT
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(6)

() The International Boundary between
India and China is known as

TS O PR SRR SN & W

(i) Indo-Chinese border
se-B S e

(i) McMahon Line

TR =iz Rored
(ifj Durand Line
W =iz Ror

(iv) Redcliffe Line
o =iz 2o

() Who among the following geographers
developed the ‘dynamic concept of
resources’?

©o (PG SUTART TTorR e qrRar’s
TR I 7
(i) Friedrich Ratzel
@SRT A6
(i) Zimmermann
T

(i} Malthus
A=A

(iv) Marx
wrsf
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(7)

2. Answer the following questions in brief :

2x5=10
T SPPTRA 5 S fm
(a) Write two examples of secondary
occupation.
S 3% 1o T faan

(b) Mention two problems of deforestation.

TR oo R @@ P wem Sme
F901

{c) What is ozone hole?

o'we oRd et & @ e

(d) Write two  differences  between
plantation agriculture and commercial
agriculture.

e R o AT FRI T B ooy
forn 1

(e) Write four consequences of Jhum
cultivation.

Fmﬁamaﬁmﬂﬁﬁwﬁml
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(8)

3. Answer any four of the following questions :
5x4=20

oo fran epprRs R e o S faan

(a) Mention five means of forest resource
conservation.

TG 0 SIHR 001 Boiry B 941 |

(b) Write five examples of primary activities.

o1 IR <Moo Sramet forey |

(c) Write five precautionary measures to be
taken during floods.

AN TS 39N <651 TRYTeT B |

(d) Write the differences between boy
and buffer zones.

ndary
ﬁmwwﬁwwm@mw%.

A9/678 ( Continued )



(e)

0

(9)

Write an account of the flood-prone
areas of India.

SREd IS GEERIE RI@ @B Ot
forar 1
Write a short note on marine resources.

g e TEed afo 5 CBR |

4. Answer any four of the following questions :

10x4=40

et famn 2P R e wiikbrR See f

(a)

(b)

(c)

A9/678

Explain the meaning and scope of
Economic Geography. 10

QAR Froe WY SIF AP I 40

Discuss the concept and classification
of resources. 4+6=10

S YR STE CIRISIS SITADAT F4 |

State the necessary geographical
conditions for wheat cultivation.

Discuss about the distribution of wheat-
producing areas in the world. 5+5=10

2 (AR A EEAT (AT PR
e 391 | fRAS (8 ST Beol CFPTR
Al 4 |
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(d)

(e

()

A9/678 _

(10)

Explain the factors of industrial location

and classification of industries. 5+5=10
FrEme TR IR SN SARFPTR S
RregomeR ek I ]|

Discuss the nature and scope of
environmental geography. 5+5=10

RFF goTEE ogfe wF AR S
bal

What are natural hazards? Discuss
about different types of natural hazard.
3+7=10

agfe Tl P B @2 R ww
ol EHfist Srofrd e 341 |

What are the main causes of climate
change? Explain the impact of climate
change on the Earth. 5+5=10

oy RS dem FREFR R 52wy
ARTEA fRAT SC FARR Ao/ (ofFiiRTR
JRM 401
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(11 )

(h) What do you mean by boundary
problems? Discuss the boundary
problems of India with its neighbouring

countries. ' 5+5=10
1 1 3 B @2 SAet [m IBER
(TS F 1 STPIRTR S 3541 |

* % %k
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